EDSBYN

Neat Hilo

Steel legs
Monteringsanvisning — Assembly instruction

Date:

2024-08-27
Nr:

00530251-C



(A) (B)

1

Montera elstativet enligt den medfdljande monteringsanvisningen. Se dven bilagan pa sida 4.
Assemble the electric stand according to the included assembly instruction. See also appendix on page 4.

2

Placera bengavlarna mot stativet och se till att de faster i halen under motorbenen. Skruva fast med skruv (A)

och skruva tillbaka stéllfétterna under motorbenen.
Place the rectangular legs against the stand and make sure they fit into the holes under the motor legs. Attach

with screw (A) and screw back the adjusting feets under the motor legs.




3

Installera elektronik samt handkontroll. Placera sedan bordsskivan pa stativet och fast med skruv (B) i de

forborrade halen.
Install the electronics and hand control. Then place the table top on the stand and assemble with screw (B) in

the pre-drilled holes.




® SWEDSTYLE Sian1.2

\Stallfm 35x7-M8X16 Svart (x2)

Insatspropp 25x50 M10 svart (x2)-.

// Stallfot M10x15_o25x7 (x2)

-

2024-06-19 g Skala: 1:10

® SWEDSTYLE .

M8x20 F65 10.9 FZB

M8x12 K6S 10.9 FZB

Insatspropp 25x50 M10 svart

Stallfot 35x7-M8X16 Svart:

Stallfot M10x15_a25x7

2024-06-19 Skala: 1:10



	Bild 1
	Bild 2
	Bild 3
	Bild 4

